
 

937-0360A 1  Document Rev 1 February, 2020 

/ƻƴǘŜƴǘ tŀƎŜ 

Hardware and Component List 2 

Installation Instructions 3-4 

Warranty and Return Policy  5 

 

 

 
нлнл ¦ǝƭƛǘȅ ²ƛƴŘƻǿ .ŀǊǎ  

(937-0360A) 
Installation Manual  



 

937-0360A 2  Document Rev 1 February, 2020 

tŀǊǘ bǳƳōŜǊ 5ŜǎŎǊƛǇǝƻƴ  vǘȅ  

411-0067 10-24 x 1/2” Carriage Bolt 8 

403-0007A #10 Flat Washer 14 

402-0011 10-24 Nyloc Nut 8 

411-0132 10-32 x 3/4” Hex Self Tap Screw 6 

401-0180* 6-32 x 3/4” PAN Head Bolt  8 

402-0026* 6-32 Nyloc Nut 8 

LǘŜƳ bǳƳπ
ōŜǊ 

tŀǊǘ bǳƳōŜǊ 5ŜǎŎǊƛǇǝƻƴ  vǘȅ  

A 837-0493A Window Bar DS 1 

B 837-0494A Window Bar PS 1 

C 837-0497A Top Thin Side Clamp 2 

D 837-0495A Bottom Thin Side Clamp 2 

E 837-0499A* Genesis Wire Cover Brkt 2 

F 837-0498A* Genesis Wire Tunnel Brkt 2 

Hardware List 

Component List 

* - Only for optional Light Kit 



 

937-0360A 3  Document Rev 1 February, 2020 

Lƴǎǘŀƭƭŀǝƻƴ LƴǎǘǊǳŎǝƻƴǎΥ  
 
{ǘŜǇ мΥ 
 
Loosely attach the provided brackets in the correct locations as shown using 10-32 
x 1/2” Carriage Bolt (x4), #10 flat washer (x4) and #10  Nyloc Nut (x4).  The bracket 
with the two holes on the flange is mounted near the top of the Window Guard 
and the bracket with no holes in mounted near the bottom.  

 
 
 
 
 
 
 

 
  

{ǘŜǇ н ό CƻǊ ƻǇǝƻƴŀƭ ƭƛƎƘǘ ƪƛǘύΥ 
 
 For the MR6 or Genesis (sold separately) install the Genesis Wire Cover Bracket 
(837-0499A), Genesis Wire Tunnel Bracket (837-0498A) and the Surface Mount 
Housing using 6-32 x 3/4” PAN Head Bolt (x4) and 6-32 Nyloc Nut (x4).  

 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

837-0497A 

837-0497A 

Surface Mount Housing 

837-0498A 
837-0499A 



 

937-0360A 4  Document Rev 1 February, 2020 

{ǘŜǇ оΥ  
 
Lower both of the both rear windows. 
Starting with the driver side rear door 
place the Window Bar on the door and 
align the edges to ensure that it does 
not pass the edge of the plastic frame. 
The bottom bracket previously in-
stalled will slide into the window chan-
nel.  

 
 
 
 
 
 

 
{ǘŜǇ пΥ 
 
Adjust the brackets until aligned. Secure the Window Bar to the Door using the 10
-32 x 3/4” Self Tapping Screws (x3) and #10 flat washer (x3)provided and tighten 
down brackets.  
 
 

 

 

 

 

 

 

 

 

 

 

 



 

937-0360A 5  Document Rev 1 February, 2020 

WARRANTY 

D & R Electronics warrants its new products to be free from defects in material and workmanship, 
under normal use and service, for a period of one year on parts replacement, and one year on la-
bor.   
This warranty applies only to original purchasers acquiring the product directly from D&R Electron-
ics, or its authorized dealers. Warranty will not be recognized without proof of  purchase or bill of 
sale. This warranty is not transferable. 
The warranty begins on the date of delivery to the first user/purchaser.  This warranty shall not ap-
ply to products which must be repaired due to normal wear and tear, negligence, improper installa-
tion, abuse, misuse, or which have been 
altered or modified at a facility other than D & R Electronics, or its authorized depot center.  Units 
proved to be defective within the warranty period, based on an examination by   D&R Electronics, 
will be replaced or repaired at D & R Electronicsô option. This warranty does not cover travel ex-
penses or labor charges for removal or installation.  Lamps, flash tubes, batteries or other items 
considered consumables are not covered  under warranty. 
This warranty is in lieu of all other express warranties. D&R Electronics makes no other warran-

PRODUCT RETURN POLICY 

In order to provide you with faster service, product returns for repair or replacement, must have a  
Return Goods Authorization Number (RGA number). Please contact our company to obtain a 
RGA number before you return the product to D & R ELECTRONICS. Write the RGA number clearly 
on the package. Be sure you use sufficient packing materials to avoid damage to the product being 
returned while in transit. 
D & R ELECTRONICS assumes no responsibility or liability for expenses incurred for the removal 
and/or the installation of products requiring service and/or repair. Repairing or replacing product is 
at the  

D&R ELECTRONICS Co. LTD. 

CANADA         USA 

 

8820 George Bolton Pkwy.      2299 Kenmore Ave 

Bolton, Ontario L7E 2Y4       Building #3, Doors 11-14 

          Buffalo, NY, 14207 

 

Tel.: (905)951-9997       Toll Free 1-800-538-7338 

Fax: (905)951-0019 

www.dandrelectronics.com 


